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INTRO TO PARTICLE MOTION PRACTICE (No calcula‘ror')
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A particle travels along the x-axis so that at any time 5)
= 0, its position is given by x(A = B -9 + 247+ 2.

For what value(s) of tis the velocity equal o zero?

A) #= 4, only V)= W) = a1 b 24
B) #=2,only ’;{f P

€) #=0and 7= 3 S Caladad

D) #= 3, only = 4 AN

t=2and f= 4

‘A par‘ﬂcle moves on the x-axis so that its position is

given by x(H = A - 672 +8 for(#= 0. For what

fimes tis the velocity of the par‘hcle uncreasugg’u

A) 0

B) 0« r< /3
- C) J3

D) O« #el
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The posiﬂon of a particle moving on a horizon‘ra! axis

for time # where 7z 0, is S(A = 3 sin = 7‘+1 What is

the average velocity of the parﬁc!e forQ = t= —2—-')
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What is the maximum acceleration of a particle on
the inferval O = #= 3 if its position is given by
()= A-473 /
Cados

B) -16

s/

oy O

6)

7

The table below shows the position of a particle, S,
at various fimes, 7 as it moves along a straight line.
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[18]22
10.0[15.0

2.6
21.0

1.0
6.0

14
7.0{

t (sec)
S (ft)

S -

A) 15 ft/sec S s 2= o
(B 125 ft/sec Tals 4 E
C) 20 ft/sec . )
D) 10 ft/sec 5 G <

E) 5 ft/sec

If the position of a particle moving on the x-axis at
any time tis given by x(#) = 28 - 372, what is the
average acceleration of the pg}r‘ﬁcle for0 = t=3?

A) 15 y (%:“\} = {7~ Lk

B) 18 ﬂ

¢) 8 .
D)9 x 5 :
)]

A particle moves along the x-axis so that at any time
7z 0, its position is given by x(#) = 2+ sin (n 5.
What is the acceleration of the particle at time

f= g? C%) sgz st Ctr i}
A) -2 M‘H ~ 9% in (T
B) 2 ’9 5
) n AL
(o)
E) O
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A particle moves along the x-axis so that is position 12) A particle moves along a horizontal axis so that its

atany time #is given by x(A = B -6R +97+12, position is defined by S(7) = 4 cos %f“for‘ 0= tsb
P””"Q what timmes is the speed of the par‘hcle What is the velocity of the particle at the fime its
- Increasing S  acceleration is first equal to zero?
A) r<lor 2 < 1<3 A) 2x
) 1< t<2o0r?>3 B) -2=
C) t<2o0r >3 C) -4n
D) 1<#<3 D) 4=
E) #<lor#3 I E) -n2

z;[{f 5=
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A particle moves along a coordinate line so that its

13) A particle moves along a horizontal coordinate line

i .1 1
position is given by 5(7) = 2 sin 5 #+ - cos 2 for so that its position at time 7 0 = 7= 4 is given by
0 = /= 2x. What is the acceleration of the particle S(H=1H- 13—6/3 + 872 + 1, For what times #is the
= x? .
at 7= velocity of the particle decreasing?
A) 23 2 bp g
2 LA g« te2 ;féi I ? bt
5 1 | O ae) = 1262
2 B) 1> = i 3 3&/
5 €) 0« t<2 e H iﬁ;ﬁ/
®) % D) O« rc4 T e
5 E) 2<t<4
E) —2_ 3 - e
50 2 ! bt
% Y ¥ 1
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\ - 14) The table below shows velocity of a particle at
10) A particle moves along the x-axis in such a way ‘rhaT _/ various fimes tof a particle that moves along a
its position at any time tis guven by horizontal line.
x(H=A-88+18R +2 for. fgwo At what time is [ -
acceleration of the particle equal to 36?7 t(sec) | 0510|1520 5
2 T ke o
A) 3 \!C% HET-puk" 4 B0t v(misec)| 83| 9.2 | 9.8 [1086] // ]
By 4 = At -l
C) 12 What is an approximate value of the acceleration of
D) 6 the particle at time 7= 2?
E) 2 KA)) 1.2 f1/sec? (k; S {}i g)
B) -0.8 ft/sec? , SN
C) 16 ft/sec? &23 A
11) A particle moves on the x-axis such that its position D) -16 ft/sec? /\‘f
atany time #> 0 is given by x(H = B - 92 + 24+ E) 18 ft/sec? L
What is the velocity of the particle when its A +
acceleration is zero? - ) 4
A) 105
B) 24 > Q
() -3 2
D) 3
E) O




